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	Test Case Dynamic Behaviour

	Test Case Name
	TC_26_6_5_1

	Group
	Rel5_GSM_L3_MS_v510/RR/

	Test Purpose
	To test that when the MS is ordered to make a non-synchronised handover it continuously sends 
access bursts on the main DCCH until it receives a PHYSICAL INFORMATION message from the SS . To test that the MS correctly handles the values of any Starting Time IE in the HANDOVER COMMAND message and the Timing Advance IE in the PHYSICAL INFORMATION message . To test 
that the MS activates the new channel correctly . 

	Defaults
	OtherEventsFail_01

	Nr
	Label
	Behaviour
	Cref
	Verdict
	Comments

	1
	 
	START T _guard (300) 
	 
	 
	 

	2
	 
	 
(TCV _asscmd _ts : = TSPX _TmSltA, 
TCV _Pwrlvl _ho: = INT _TO _BIT ( TSPX _PwrlvlA, 5) ) 

	 
	 
	 

	3
	 
	 
+BasicServiceMT ( TSPX _MTBscSvcI, TSPX _MTChRateI) 

	 
	 
	 

	4
	 
	 
+IdleUpdated ( C _E _default, C _CellA, C _SCH _A, C _BCCH _A _1, C _Immass, C _S0, C _SlotNU, C _SlotNU, C _SlotNU, C _BCC, C _TxInt _5, C _Max _7, C _NECI _0, C _ATT _0, TimingAdv ( 20) , C _BABR _0, C _cch _1Comb, C _BPM _3, C _T3212 _0,  C _ci _cellA, C _MCC _1, C _PLMN _1, C _LAC _1, CellOpt _01, CellChDes _20 _Aman, CellChDes _201 _Ad, C _CellReselectHys12, C _MaxPwrLvlG, C _MaxPwrLvlD, BcchFreqLst _01, BcchFreqLst _Omit, BcchFreqLst _48, BcchFreqLst _Omit, C _noRestablishment, C _BCC, C _NCC, C _Start _Tmsi, TSPX _SDCCH4SubDef, TSPX _CKSNDef, TSPX _RANDDef, C _arfcnA, C _arfcnAd _4, TSPX _IMSI, C _Test _fh, C _NCCP _2) 

	 
	 
	 

	5
	 
	 
+StartCellB _ho ( C _E _neighbourdefault, C _BCCHcarrierB _ho, C _BCCHcarrierB _hod, C _Immass, TCV _slot, TCV _tsc, TimingAdv ( 20) , C _TxInt _5, C _Max _7, C _NECI _0, C _ATT _0, C _BABR _0, C _cch _1Comb, C _BPM _3, C _T3212 _0, C _MCC _1, C _PLMN _1, C _LAC _1, CellChDes _20 _Bman, CellChDes _201 _Bd, BcchFreqLst _01, BcchFreqLst _48, C _noRestablishment, C _BCC, C _NCC, TSPX _k, 100) 

	 
	 
	frame number in cell B is 100 in advance of frame number in cell A . 

	6
	 
	 
+FullRateCh _A _1 ( C _Ass, TCV _asscmd _ts, TSPX _TscDef,  TCV _ChMod, FreqTCH _omit, FreqTCH _omit, TSPX _TCHcarrierA _ho, TSPX _TCHcarrierA _hod, TimingAdv ( 20) , C _BABR _0, C _cch _1Comb, C _BPM _3) 

	 
	 
	 

	7
	 
	 
+Est _MT _CallNonFH ( TimingAdv ( 20) , C _Full, TSPX _TCHHSubDef, TSPX _RANDDef) 

	 
	 
	0 . 

	8
	 
	 
(TCV _M : = 1, TCV _ch : = TCV _chTch) 

	 
	 
	 

	9
	body
	 
REPEAT local _handover UNTIL [TCV _M = 9] 

	 
	 
	 

	10
	 
	 
+ChanRel _end ( TCV _ch) 

	 
	 
	 

	 
	 
	local _handover
	 
	 
	 

	11
	 
	(TCV _chTch1 : = TCV _ch) 
	 
	 
	 

	12
	 
	 
+local _channel _config

	 
	 
	 

	13
	 
	 
(TCV _Null : = OM _SendNextOnHO (TCV _ch, TCV _Cntref) ) 

	 
	 
	 

	14
	 
	 
+local _send _hoCMD

	 
	 
	 

	15
	 
	 
+RR _hocomp1 ( TCV _n, TCV _chTch1) 

	 
	 
	 

	16
	 
	 
+local _firstburst _ontime _CHK

	 
	 
	 

	17
	 
	 
[ (TCV _M = 3) AND ( NOT TSPC _DualRate) ] 

	 
	 
	 

	18
	 
	 
(TCV _M : = 9) 

	 
	 
	 

	19
	 
	 
[C _Yes] 

	 
	 
	 

	20
	 
	 
(TCV _M : = TCV _M + 1) 

	 
	 
	 

	 
	 
	local _send _hoCMD
	 
	 
	 

	21
	 
	[ (TCV _M = 3) OR (TCV _M = 5) ] 
	 
	 
	 

	22
	 
	 
(TCV _Fn : = OM _ComingFn ( TCV _chTch1) ,  TCV _Null: = OM _SendNextOn ( TCV _chTch1, TCV _Fn) , TCV _Strt : = OC _StartTime ( TCV _Fn, (C _StartingTimeHO + 100) , 1) ) 

	 
	 
	starting time is set to 1 .1 s pluse 100 frames 

	23
	 
	 
L!DL _DatRqPhyinfo

	PhyInfo _01 (TCV _ch, TimingAdv (TCV _T) ) 
	 
	1 . 

	24
	 
	 
L!DL _DatRqHoCmd ( DL _DatRqHoCmd .msg .strt: = TCV _Strt) 

	HndOvSnd ( TCV _chTch1, TCV _HoCMD) 
	 
	 

	25
	 
	[C _Yes] 
	 
	 
	 

	26
	 
	 
L!DL _DatRqPhyinfo

	PhyInfo _01 (TCV _ch, TimingAdv (TCV _T) ) 
	 
	1 . 

	27
	 
	 
L!DL _DatRqHoCmd

	HndOvSnd ( TCV _chTch1, TCV _HoCMD) 
	 
	 

	 
	 
	local _channel _config
	 
	 
	 

	28
	 
	+local _ch _config
	 
	 
	 

	29
	 
	 
(TCV _ch : = TCV _chTch) 

	 
	 
	 

	 
	 
	local _ch _config
	 
	 
	 

	30
	 
	[TCV _M = 1] 
	 
	 
	2 . 

	31
	 
	 
(TCV _n : = 500, 
TCV _Cntref : = TSPX _NoOfHoAccA, TCV _T : = 20, 
TCV _Horf: = TSPX _HoRefA, 
TCV _ts : = TSPX _TmSltB, 
TCV _tsc : = TSPX _TscB, 
TCV _chtype : = '00001'B) 

	 
	 
	 

	32
	 
	 
+FullRateCh _B _1 ( C _Asynho, TCV _ts, TCV _tsc, TCV _ChMod, FreqTCH ( TSPX _TCHcarrierB _ho) , FreqTCH ( TSPX _TCHcarrierB _hod) , TimingAdv ( TCV _T) , C _BABR _0, C _cch _1Comb, C _BPM _3) 

	 
	 
	 

	33
	 
	 
+local _set _arfcn _B

	 
	 
	 

	34
	 
	 
(TCV _HoCMD : = HandOverCmd _nfh ( TCV _chtype, TCV _ts, TCV _tsc, C _NCC, C _BCC, TCV _chdescr _arfcn, TCV _tch _arfcn, TCV _Horf, TCV _Pwrlvl _ho, Synchi ( C _not _report _otd, C _non _synchronised) , ChMod _omit, RelTmdDif _omit, TimingAdv _omit, CphMod _omit) ) 

	 
	 
	 

	35
	 
	 
(TCV _sacchTch : = C _SACCHF _A _1) 

	 
	 
	 

	36
	 
	 
(TCV _nc : = '010'B) 

	 
	 
	 

	37
	 
	 
+Check _Cells _Present (TCV _nc, TCV _sacchTch) 

	 
	 
	 

	38
	 
	[TCV _M = 2] 
	 
	 
	3 . 

	39
	 
	 
(TCV _n : = 500, 
TCV _Cntref : = TSPX _NoOfHoAccB, TCV _T : = TSPX _TimadvA, 
TCV _ts : = TSPX _TmSltNotZero, 
TCV _Horf: = TSPX _HoRefB, 
TCV _tsc : = TSPX _TscC, 
TCV _chtype : = '00001'B) 

	 
	 
	 

	40
	 
	 
+FullRateCh _A _1 ( C _Asynho, TCV _ts, TCV _tsc,   TCV _ChMod, FreqTCHa _hof1, FreqTCHa _hof1d, C _Noarfcn, C _Noarfcn, TimingAdv ( TCV _T) , C _BABR _0, C _cch _1Comb, C _BPM _3) 

	 
	 
	 

	41
	 
	 
(TCV _nc : = '010'B) 

	 
	 
	 

	42
	 
	 
(TCV _sacchTch : = C _SACCHF _B _1) 

	 
	 
	 

	43
	 
	 
+Check _Cells _Present (TCV _nc, TCV _sacchTch) 

	 
	 
	 

	44
	 
	 
+local _handover2

	 
	 
	 

	45
	 
	[TCV _M = 3] 
	 
	 
	4 . 

	46
	 
	 
(TCV _n : = 500, 
TCV _Cntref : = TSPX _NoOfHoAccC, TCV _T : = 20, 
TCV _ts : = TSPX _TmSltC, 
TCV _Horf: = TSPX _HoRefC, 
TCV _tsc : = TSPX _TscC, 
TCV _chtype : = '00001'B) 

	 
	 
	 

	47
	 
	 
+FullRateCh _B _1 ( C _Asynho, TCV _ts, TCV _tsc, TCV _ChMod, FreqTCH ( TSPX _TCHcarrierB _ho) , FreqTCH ( TSPX _TCHcarrierB _hod) , TimingAdv ( TCV _T) , C _BABR _0, C _cch _1Comb, C _BPM _3) 

	 
	 
	 

	48
	 
	 
+local _set _arfcn _B

	 
	 
	 

	49
	 
	 
(TCV _nc : = '010'B) 

	 
	 
	 

	50
	 
	 
(TCV _sacchTch : = C _SACCHF _A _1) 

	 
	 
	 

	51
	 
	 
+Check _Cells _Present (TCV _nc, TCV _sacchTch) 

	 
	 
	 

	52
	 
	 
(TCV _HoCMD : = HandOverCmd _nfh ( TCV _chtype, TCV _ts, TCV _tsc, C _NCC, C _BCC, TCV _chdescr _arfcn, TCV _tch _arfcn, TCV _Horf, TCV _Pwrlvl _ho, Synchi ( C _not _report _otd, C _non _synchronised) , TCV _ChMod, RelTmdDif _omit, TimingAdv _omit, CphMod _omit) ) 

	 
	 
	 

	53
	 
	[TCV _M = 4] 
	 
	 
	5 . 

	54
	 
	 
(TCV _n : = 500, 
TCV _Cntref : = TSPX _NoOfHoAccD, TCV _T : = TSPX _TimadvB, 
TCV _ts : = C _S0, 
TCV _Horf: = TSPX _HoRefD, 
TCV _tsc : = TSPX _TscD, 
TCV _chtype : = INT _TO _BIT ( ( 2 + BIT _TO _INT ( TSPX _TCHHSubA) ) , 5) ) 

	 
	 
	 

	55
	 
	 
+HalfRateCh _A _1 ( TSPX _TCHHSubA, C _Asynho, TCV _ts, TCV _tsc, TCV _ChMod, FreqTCHa _hof4, FreqTCHa _hof4d, C _Noarfcn, C _Noarfcn, TimingAdv ( TCV _T) , C _BABR _0, C _cch _1Comb, C _BPM _3) 

	 
	 
	 

	56
	 
	 
(TCV _sacchTch1: =TCV _sacchTch) 

	 
	 
	get sacch from HalfRateCh _A _1 . . . 

	57
	 
	 
(TCV _nc : = '010'B) 

	 
	 
	 

	58
	 
	 
(TCV _sacchTch : = C _SACCHF _B _1) 

	 
	 
	 

	59
	 
	 
+Check _Cells _Present (TCV _nc, TCV _sacchTch) 

	 
	 
	 

	60
	 
	 
+local _handover4

	 
	 
	 

	61
	 
	[TCV _M = 5] 
	 
	 
	6 . 

	62
	 
	 
(TCV _n : = 750, 
TCV _Cntref : = TSPX _NoOfHoAccE, TCV _T : = 20, 
TCV _ts : = TSPX _TmSltNotZero1, TCV _Horf: = TSPX _HoRefE, 
TCV _tsc : = TSPX _TscE, 
TCV _chtype : = INT _TO _BIT ( ( 2 + BIT _TO _INT ( TSPX _TCHHSubDef) ) , 5) ) 

	 
	 
	 

	63
	 
	 
+HalfRateCh _B _1 ( TSPX _TCHHSubDef, C _Asynho, TCV _ts, TCV _tsc, TCV _ChMod, FreqTCHb _hof1, FreqTCHb _hof1d, TimingAdv ( TCV _T) , C _BABR _0, C _cch _1Comb, C _BPM _3) 

	 
	 
	 

	64
	 
	 
(TCV _sacchTch2: = TCV _sacchTch) 

	 
	 
	to hold sacch setting from halfrateB cell setup . . . 

	65
	 
	 
(TCV _sacchTch : = TCV _sacchTch1) 

	 
	 
	 

	66
	 
	 
(TCV _nc : = '010'B) 

	 
	 
	 

	67
	 
	 
+Check _Cells _Present (TCV _nc, TCV _sacchTch) 

	 
	 
	 

	68
	 
	 
+local _handover5

	 
	 
	 

	69
	 
	[TCV _M = 6] 
	 
	 
	7 . 

	70
	 
	 
(TCV _n : = 750, 
TCV _Cntref : = TSPX _NoOfHoAccF, 
TCV _T : = 20, 
TCV _ts : = TSPX _TmSltNotZero, TCV _Horf: = TSPX _HoRefF, 
TCV _tsc : = TSPX _TscF, 
TCV _chtype : = INT _TO _BIT ( ( 2 + BIT _TO _INT ( TSPX _TCHHSubDef) ) , 5) ) 

	 
	 
	 

	71
	 
	 
+HalfRateCh _A _1 ( TSPX _TCHHSubDef, C _Asynho, TCV _ts, TCV _tsc, TCV _ChMod, FreqTCH _omit, FreqTCH _omit, TSPX _TCHcarrierA _ho, TSPX _TCHcarrierA _hod, TimingAdv (  TCV_T) , C _BABR _0, C _cch _1Comb, C _BPM _3) 

	 
	 
	 

	72
	 
	 
+local _set _arfcn _A

	 
	 
	 

	73
	 
	 
(TCV _sacchTch1: =TCV _sacchTch) 

	 
	 
	 

	74
	 
	 
(TCV _sacchTch: =TCV _sacchTch2) 

	 
	 
	 

	75
	 
	 
(TCV _nc : = '010'B) 

	 
	 
	 

	76
	 
	 
+Check _Cells _Present (TCV _nc, TCV _sacchTch) 

	 
	 
	 

	77
	 
	 
+local _HoCMD _nofh

	 
	 
	 

	78
	 
	[TCV _M = 7] 
	 
	 
	8 . 

	79
	 
	 
(TCV _n : = 750, 
TCV _Cntref : = TSPX _NoOfHoAccD, TCV _T : = TSPX _TimadvA, 
TCV _ts : = TSPX _TmSltNotZero, TCV _Horf: = TSPX _HoRefG, 
TCV _tsc : = TSPX _TscG, 
TCV _chtype : = INT _TO _BIT ( ( 2 + BIT _TO _INT ( TSPX _TCHHSubA) ) , 5) ) 

	 
	 
	 

	80
	 
	 
+HalfRateCh _B _1 ( TSPX _TCHHSubA, C _Asynho, TCV _ts, TCV _tsc, TCV _ChMod, FreqTCHb _hof2, FreqTCHb _hof2d, TimingAdv (  TCV_T) , C _BABR _0, C _cch _1Comb, C _BPM _3) 

	 
	 
	 

	81
	 
	 
(TCV _sacchTch2: =TCV _sacchTch) 

	 
	 
	 

	82
	 
	 
(TCV _sacchTch: =TCV _sacchTch1) 

	 
	 
	 

	83
	 
	 
(TCV _nc : = '010'B) 

	 
	 
	 

	84
	 
	 
+Check _Cells _Present (TCV _nc, TCV _sacchTch) 

	 
	 
	 

	85
	 
	 
+local _handover7

	 
	 
	 

	86
	 
	[TCV _M = 8] 
	 
	 
	9 . 

	87
	 
	 
(TCV _n : = 500, 
TCV _Cntref : = TSPX _NoOfHoAccA, TCV _T : = TSPX _TimadvB, 
TCV _ts : = TSPX _TmSltNotZero1, TCV _Horf: = TSPX _HoRefB, 
TCV _tsc : = TSPX _TscB, 
TCV _chtype : = '00001'B) 

	 
	 
	 

	88
	 
	 
+FullRateCh _A _1 ( C _Asynho, TCV _ts, TCV _tsc,  TCV _ChMod, FreqTCH _omit, FreqTCH _omit, C _arfcnA, C _arfcnAd _4, TimingAdv ( TCV _T) , C _BABR _0, C _cch _1Comb, C _BPM _3) 

	 
	 
	 

	89
	 
	 
+local _set _arfcn _A1

	 
	 
	 

	90
	 
	 
(TCV _sacchTch: =TCV _sacchTch2) 

	 
	 
	 

	91
	 
	 
(TCV _nc : = '010'B) 

	 
	 
	 

	92
	 
	 
+Check _Cells _Present (TCV _nc, TCV _sacchTch) 

	 
	 
	 

	93
	 
	 
+local _HoCMD _nofh

	 
	 
	 

	 
	 
	local _set _arfcn _A
	 
	 
	 

	94
	 
	[TSPC _PGSM OR TSPC _EGSM] 
	 
	 
	 

	95
	 
	 
(TCV _chdescr _arfcn : = C _arfcnA, TCV _tch _arfcn : = TSPX _TCHcarrierA _ho) 

	 
	 
	 

	96
	 
	[TSPC _DCS] 
	 
	 
	 

	97
	 
	 
(TCV _chdescr _arfcn : = C _arfcnAd _4, TCV _tch _arfcn : = TSPX _TCHcarrierA _hod) 

	 
	 
	 

	 
	 
	local _set _arfcn _A1
	 
	 
	 

	98
	 
	[TSPC _PGSM OR TSPC _EGSM] 
	 
	 
	 

	99
	 
	 
(TCV _chdescr _arfcn : = C _arfcnA, TCV _tch _arfcn : = C _arfcnA) 

	 
	 
	 

	100
	 
	[TSPC _DCS] 
	 
	 
	 

	101
	 
	 
(TCV _chdescr _arfcn : = C _arfcnAd _4, TCV _tch _arfcn : = C _arfcnAd _4) 

	 
	 
	 

	 
	 
	local _set _arfcn _B
	 
	 
	 

	102
	 
	[TSPC _PGSM OR TSPC _EGSM] 
	 
	 
	 

	103
	 
	 
(TCV _chdescr _arfcn : = C _BCCHcarrierB _ho, 
TCV _tch _arfcn : = TSPX _TCHcarrierB _ho) 

	 
	 
	 

	104
	 
	[TSPC _DCS] 
	 
	 
	 

	105
	 
	 
(TCV _chdescr _arfcn : = C _BCCHcarrierB _hod, 
TCV _tch _arfcn : = TSPX _TCHcarrierB _hod) 

	 
	 
	 

	 
	 
	local _firstburst _ontime _CHK
	 
	 
	 

	106
	 
	[ (TCV _M = 3) OR (TCV _M = 5) ] 
	 
	 
	 

	107
	 
	 
+FnArith ( TCV _FnBurst, TCV _Strt .fn) 

	 
	 
	 

	108
	 
	 
[TCV _M = 3] 

	 
	 
	 

	109
	L _0225
	 
[ (TCV _Time > 5) OR (TCV _Time < 0) ] 

	 
	(F) 
	10 . 

	110
	L _0226
	 
[ (TCV _Time >= 0) AND (TCV _Time <= 5) ] 

	 
	(P) 
	 

	111
	 
	 
[TCV _M = 5] 

	 
	 
	 

	112
	L _0227
	 
[ (TCV _Time > 10) OR (TCV _Time < 0) ] 

	 
	(F) 
	10 . 

	113
	L _0228
	 
[ (TCV _Time >= 0) AND (TCV _Time <= 10) ] 

	 
	(P) 
	 

	114
	 
	[C _Yes] 
	 
	 
	 

	 
	 
	local _handover2
	 
	 
	 

	115
	 
	[TSPC _PGSM OR TSPC _EGSM] 
	 
	 
	 

	116
	 
	 
(TCV _HoCMD : = HandOverCmd _fh ( TCV _chtype, TCV _ts, TCV _tsc, C _NCC, C _BCC, C _arfcnA, 12, TSPX _HSN, TCV _Horf, TCV _Pwrlvl _ho, Synchi _omit, Frql _omit, Frql _omit, CellChDes _Omit, ChMod _omit, Freqchseq _22, MoblAllc _omit, RelTmdDif _omit, TimingAdv _omit, CphMod _omit) ) 

	 
	 
	 

	117
	 
	[TSPC _DCS] 
	 
	 
	 

	118
	 
	 
(TCV _HoCMD : = HandOverCmd _fh ( TCV _chtype, TCV _ts, TCV _tsc, C _NCC, C _BCC, C _arfcnAd _4, 9, TSPX _HSN, TCV _Horf, TCV _Pwrlvl _ho, Synchi _omit, Frqls _20 _Ad, Frql _omit, CellChDes _Omit, ChMod _omit, Freqchseq _omit, MoblAllc _omit, RelTmdDif _omit, TimingAdv _omit, CphMod _omit) ) 

	 
	 
	 

	 
	 
	local _handover4
	 
	 
	 

	119
	 
	[TSPC _PGSM OR TSPC _EGSM] 
	 
	 
	 

	120
	 
	 
(TCV _HoCMD : = HandOverCmd _fh ( TCV _chtype, TCV _ts, TCV _tsc, C _NCC, C _BCC, C _arfcnA, 16, C _HSN _0, TCV _Horf, TCV _Pwrlvl _ho, Synchi _omit, Frql _omit, Frql _omit, CellChDes _20 _A, ChMod _omit, Freqchseq _omit, MoblAllc _20 _A1, RelTmdDif _omit, TimingAdv _omit, CphMod _omit) ) 

	 
	 
	 

	121
	 
	[TSPC _DCS] 
	 
	 
	 

	122
	 
	 
(TCV _HoCMD : = HandOverCmd _fh ( TCV _chtype, TCV _ts, TCV _tsc, C _NCC, C _BCC, C _arfcnAd _4, 16, C _HSN _0, TCV _Horf, TCV _Pwrlvl _ho, Synchi _omit, Frql _omit, Frql _omit, CellChDes _202 _Ad, ChMod _omit, Freqchseq _omit, MoblAllc _20 _A1, RelTmdDif _omit, TimingAdv _omit, CphMod _omit) ) 

	 
	 
	 

	 
	 
	local _handover5
	 
	 
	 

	123
	 
	[TSPC _PGSM OR TSPC _EGSM] 
	 
	 
	 

	124
	 
	 
(TCV _HoCMD : = HandOverCmd _fh ( TCV _chtype, TCV _ts, TCV _tsc, C _NCC, C _BCC, C _BCCHcarrierB _ho, 12, TSPX _HSN, TCV _Horf, TCV _Pwrlvl _ho, Synchi ( C _not _report _otd, C _non _synchronised) , Frql _omit, Frql _20 _B3, CellChDes _Omit, ChMod _omit, Freqchseq _omit, MoblAllc _omit, RelTmdDif _omit, TimingAdv _omit, CphMod _omit) ) 

	 
	 
	 

	125
	 
	[TSPC _DCS] 
	 
	 
	 

	126
	 
	 
(TCV _HoCMD : = HandOverCmd _fh ( TCV _chtype, TCV _ts, TCV _tsc, C _NCC, C _BCC, C _BCCHcarrierB _hod, 12, TSPX _HSN, TCV _Horf, TCV _Pwrlvl _ho, Synchi ( C _not _report _otd, C _non _synchronised) , Frql _omit, Frql _20 _B3d, CellChDes _Omit, ChMod _omit, Freqchseq _omit, MoblAllc _omit, RelTmdDif _omit,  TimingAdv _omit, CphMod _omit) ) 

	 
	 
	 

	 
	 
	local _handover7
	 
	 
	 

	127
	 
	[TSPC _PGSM OR TSPC _EGSM] 
	 
	 
	 

	128
	 
	 
(TCV _HoCMD : = HandOverCmd _fh ( TCV _chtype, TCV _ts, TCV _tsc, C _NCC, C _BCC, C _BCCHcarrierB _ho, 8, TSPX _HSN, TCV _Horf, TCV _Pwrlvl _ho, Synchi ( C _not _report _otd, C _non _synchronised) , Frql _omit, Frql _omit, CellChDes _Omit, TCV _ChMod, Freqchseq _01, MoblAllc _omit, RelTmdDif _omit,  TimingAdv _omit, CphMod _omit) ) 

	 
	 
	 

	129
	 
	[TSPC _DCS] 
	 
	 
	 

	130
	 
	 
(TCV _HoCMD : = HandOverCmd _fh ( TCV _chtype, TCV _ts, TCV _tsc, C _NCC, C _BCC, C _BCCHcarrierB _hod, 8, TSPX _HSN, TCV _Horf, TCV _Pwrlvl _ho, Synchi ( C _not _report _otd, C _non _synchronised) , Frql _omit, Frql _20 _B4d, CellChDes _Omit, TCV _ChMod, Freqchseq _omit, MoblAllc _omit, RelTmdDif _omit,  TimingAdv _omit, CphMod _omit) ) 

	 
	 
	 

	 
	 
	local _HoCMD _nofh
	 
	 
	 

	131
	 
	(TCV _HoCMD : = HandOverCmd _nfh ( TCV _chtype, TCV _ts, TCV _tsc, C _NCC, C _BCC, TCV _chdescr _arfcn, TCV _tch _arfcn, TCV _Horf, TCV _Pwrlvl _ho, Synchi _omit, ChMod _omit, RelTmdDif _omit, TimingAdv _omit, CphMod _omit) ) 
	 
	 
	 

	Detailed Comments: 
	0 . IUT enters state U10 with TCH/F _nonFH in cell A 
1 . PhyInfo is dequeued from the sending buffer, but held through OM _SendNextOnHO at the lower layers of the tester for sending till having received TCV _Cntref access bursts . 
2 . HO from TCH/F _nonFH of cell A to TCH/F _nonFH in CELL B 
3 . HO from TCH/F _FH of cell A to TCH/F _FH in CELL B 
4 . HO from TCH/F _FH of cell A to TCH/F _nonFH in CELL B 
5 . HO from TCH/F _nonFH of cell A to TCH/H _FH in CELL B 
6 . HO from TCH/H _FH of cell A to TCH/H _FH in CELL B 
7 . HO from TCH/H _FH of cell A to TCH/H _nonFH in CELL B 
8 . HO from TCH/H _nonFH of cell A to TCH/H _FH in CELL B 
9 . HO from TCH/H _FH of cell A to TCH/F _nonFH in CELL B 
10 . The first handover access burst starts too late or too early . ( 10ms means 2 frames tolerance for 
TCH/H channel, 5ms means 1 frame tolerance for TCH/F channel) 
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